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IE {3 K % ouT I N TOTAL] HDCP NET
& | IR IE 38 35 73 2.4 70.6
@l fRR HhER 40 38 78 6 72
3 fz| B EZ 46 44 90 18 72
4 fz| HHEEE 47 48 95 21.6 73.4
5 ]| FREHE s 47 47 94 20.4 73.6
B-B| ATF&k 59 49 108 26.4 81.6
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IE i K % ouT I N TOTAL] HDCP NET
& | EXkE& 39 42 81 9.6 71.4
e LT 51 42 93 20.4 72.6
3 fi| EEE A— 39 37 76 2.4 73.6
4 i RAH 42 45 87 13.2 73.8
5 | m#H= 50 44 94 19.2 74.8
B-B| IBESE 57 67 124 36 88
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IE i K % ouT I N TOTAL] HDCP NET
& | B SZXF 44 48 92 19.2 72.8
T B 47 40 87 13.2 73.8
3 fi| 25H B 47 39 86 12 74
4 fz| #RE EH 44 48 92 18 74
5 ] == FAl 47 56 103 28.8 74.2
B-B| #BWE R 54 59 113 28.8 84.2
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IE i K % ouT I N TOTAL] HDCP NET
& | FEER 40 42 82 12 70
s ER EE 39 38 77 4.8 72.2
3 | AXEE 44 51 95 22.8 72.2
4 fz| @b BE= 41 41 82 9.6 72.4
5 ]| dbit FB 38 42 80 7.2 72.8
B-B| A f&= 57 57 114 28.8 85.2




